



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025070

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 PN PPN T044901C PPN-0-(232)D	103619	PINAL	SOUTHCENT		0		Mike Wechselberger

Highway Termini	Location	Work Description
• PINAL COUNTY	• Battaglia Dr; Henness Rd to Ov	• Shoulder Widening

BID RESULTS FOR 2025070

Bid Opening Date : 11/14/2025, Prequalification Required, Engineer Specialist : Mike Wechselberger

Completion Date:

170 Calendar Days

The proposed project is located in Pinal County on Battaglia Drive between Henness Road and Overfield Road, near the unincorporated area of Arizona City. The work includes widening the outside shoulders. The work also includes pavement marking, guardrail replacement, and other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$1,945,341.50	DEPARTMENT ESTIMATE	\$1,945,341.50
1	+14.7%		\$2,230,833.80	W. W. CLYDE & CO. 869 N. 1500 W. Orem, UT 84057-	\$2,230,833.80
2	+28.2%		\$2,494,444.00	HAWK CONTRACTING LLC 1022 E. LOYOLA DRIVE TEMPE, AZ 85282-	\$2,494,444.00
3	+28.5%		\$2,499,999.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$2,499,999.00

Winning Bidder is 14.7% Over Department Estimate (Difference = \$285,492.30)

*** Bid Tabs for Proposal Pamphlet 2025070 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010011	ACRE	CLEARING AND GRUBBING				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	W. W. CLYDE & CO.			\$15,000.000	\$15,000.00	+50.0%
2	HAWK CONTRACTING LLC			\$10,500.000	\$10,500.00	+5.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$40,000.000	\$40,000.00	+300.0%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		5,067.000	\$20.000	\$101,340.00	
1	W. W. CLYDE & CO.			\$20.000	\$101,340.00	+0.0%
2	HAWK CONTRACTING LLC			\$27.000	\$136,809.00	+35.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$20.000	\$101,340.00	+0.0%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		1,348.000	\$15.000	\$20,220.00	
1	W. W. CLYDE & CO.			\$20.000	\$26,960.00	+33.3%
2	HAWK CONTRACTING LLC			\$12.000	\$16,176.00	-20.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$12.000	\$16,176.00	-20.0%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		2,674.000	\$30.000	\$80,220.00	
1	W. W. CLYDE & CO.			\$60.000	\$160,440.00	+100.0%
2	HAWK CONTRACTING LLC			\$100.000	\$267,400.00	+233.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$155.000	\$414,470.00	+416.7%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		2,037.000	\$150.000	\$305,550.00	
1	W. W. CLYDE & CO.			\$270.000	\$549,990.00	+80.0%
2	HAWK CONTRACTING LLC			\$185.000	\$376,845.00	+23.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$200.000	\$407,400.00	+33.3%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		3.000	\$3,000.000	\$9,000.00	
1	W. W. CLYDE & CO.			\$1,300.000	\$3,900.00	-56.7%
2	HAWK CONTRACTING LLC			\$3,250.000	\$9,750.00	+8.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$2,800.000	\$8,400.00	-6.7%
4040163	TON	BLOTTER MATERIAL				
Bid Rank	Department Estimate		12.000	\$750.000	\$9,000.00	
1	W. W. CLYDE & CO.			\$112.000	\$1,344.00	-85.1%
2	HAWK CONTRACTING LLC			\$125.000	\$1,500.00	-83.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$305.000	\$3,660.00	-59.3%
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		2,740.000	\$175.000	\$479,500.00	
1	W. W. CLYDE & CO.			\$200.000	\$548,000.00	+14.3%

*** Bid Tabs for Proposal Pamphlet 2025070 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		2,740.000	\$175.000	\$479,500.00	
2	HAWK CONTRACTING LLC			\$185.000	\$506,900.00	+5.7%
3	COMBS CONSTRUCTION COMPANY, INC.			\$170.000	\$465,800.00	-2.9%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		7.000	\$500.000	\$3,500.00	
1	W. W. CLYDE & CO.			\$300.000	\$2,100.00	-40.0%
2	HAWK CONTRACTING LLC			\$550.000	\$3,850.00	+10.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$275.000	\$1,925.00	-45.0%
6080120	EACH	SIGN (RELOCATE)				
Bid Rank	Department Estimate		7.000	\$500.000	\$3,500.00	
1	W. W. CLYDE & CO.			\$350.000	\$2,450.00	-30.0%
2	HAWK CONTRACTING LLC			\$275.000	\$1,925.00	-45.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$350.000	\$2,450.00	-30.0%
7010025	EACH	TEMPORARY IMPACT ATTENUATION DEVICE (IN-LINE ENERGY ABSORBING TERM.)				
Bid Rank	Department Estimate		4.000	\$4,500.000	\$18,000.00	
1	W. W. CLYDE & CO.			\$4,000.000	\$16,000.00	-11.1%
2	HAWK CONTRACTING LLC			\$3,750.000	\$15,000.00	-16.7%
3	COMBS CONSTRUCTION COMPANY, INC.			\$3,200.000	\$12,800.00	-28.9%
7010026	EACH-DAY	TEMPORARY IMPACT ATTENUTATION DEVICE (IN-LINE ENERGY ABSORBING TERM.) (IN USE)				
Bid Rank	Department Estimate		136.000	\$40.000	\$5,440.00	
1	W. W. CLYDE & CO.			\$47.000	\$6,392.00	+17.5%
2	HAWK CONTRACTING LLC			\$50.000	\$6,800.00	+25.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$45.000	\$6,120.00	+12.5%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		760.000	\$40.000	\$30,400.00	
1	W. W. CLYDE & CO.			\$40.000	\$30,400.00	+0.0%
2	HAWK CONTRACTING LLC			\$35.000	\$26,600.00	-12.5%
3	COMBS CONSTRUCTION COMPANY, INC.			\$24.000	\$18,240.00	-40.0%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		30,640.000	\$0.350	\$10,724.00	
1	W. W. CLYDE & CO.			\$0.200	\$6,128.00	-42.9%
2	HAWK CONTRACTING LLC			\$0.120	\$3,676.80	-65.7%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.110	\$3,370.40	-68.6%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		3,760.000	\$1.000	\$3,760.00	
1	W. W. CLYDE & CO.			\$0.250	\$940.00	-75.0%
2	HAWK CONTRACTING LLC			\$0.300	\$1,128.00	-70.0%

*** Bid Tabs for Proposal Pamphlet 2025070 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		3,760.000	\$1.000	\$3,760.00	
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.500	\$1,880.00	-50.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		2,524.000	\$2.000	\$5,048.00	
1	W. W. CLYDE & CO.			\$0.200	\$504.80	-90.0%
2	HAWK CONTRACTING LLC			\$1.000	\$2,524.00	-50.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.500	\$1,262.00	-75.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		2,524.000	\$0.500	\$1,262.00	
1	W. W. CLYDE & CO.			\$0.200	\$504.80	-60.0%
2	HAWK CONTRACTING LLC			\$0.200	\$504.80	-60.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.500	\$1,262.00	+0.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		3,760.000	\$1.000	\$3,760.00	
1	W. W. CLYDE & CO.			\$0.200	\$752.00	-80.0%
2	HAWK CONTRACTING LLC			\$0.200	\$752.00	-80.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.500	\$1,880.00	-50.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		4.000	\$1,000.000	\$4,000.00	
1	W. W. CLYDE & CO.			\$0.200	\$0.80	-100.0%
2	HAWK CONTRACTING LLC			\$500.000	\$2,000.00	-50.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$145.000	\$580.00	-85.5%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		168.000	\$1.000	\$168.00	
1	W. W. CLYDE & CO.			\$250.000	\$42,000.00	+24900.0%
2	HAWK CONTRACTING LLC			\$0.650	\$109.20	-35.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.500	\$84.00	-50.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		2,356.000	\$1.500	\$3,534.00	
1	W. W. CLYDE & CO.			\$0.200	\$471.20	-86.7%
2	HAWK CONTRACTING LLC			\$0.750	\$1,767.00	-50.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.500	\$1,178.00	-66.7%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		264.000	\$65.000	\$17,160.00	
1	W. W. CLYDE & CO.			\$0.200	\$52.80	-99.7%
2	HAWK CONTRACTING LLC			\$30.000	\$7,920.00	-53.8%
3	COMBS CONSTRUCTION COMPANY, INC.			\$40.000	\$10,560.00	-38.5%

*** Bid Tabs for Proposal Pamphlet 2025070 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		1,344.000	\$90.000	\$120,960.00	
1	W. W. CLYDE & CO.			\$69.000	\$92,736.00	-23.3%
2	HAWK CONTRACTING LLC			\$70.000	\$94,080.00	-22.2%
3	COMBS CONSTRUCTION COMPANY, INC.			\$59.000	\$79,296.00	-34.4%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		44,001.000	\$1.500	\$66,001.50	
1	W. W. CLYDE & CO.			\$0.600	\$26,400.60	-60.0%
2	HAWK CONTRACTING LLC			\$0.500	\$22,000.50	-66.7%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.420	\$18,480.42	-72.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		29,334.000	\$0.500	\$14,667.00	
1	W. W. CLYDE & CO.			\$0.200	\$5,866.80	-60.0%
2	HAWK CONTRACTING LLC			\$0.120	\$3,520.08	-76.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$0.120	\$3,520.08	-76.0%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		1.000	\$7,500.000	\$7,500.00	
1	W. W. CLYDE & CO.			\$8,000.000	\$8,000.00	+6.7%
2	HAWK CONTRACTING LLC			\$8,500.000	\$8,500.00	+13.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$6,900.000	\$6,900.00	-8.0%
8101018	SQ.YD.	EROSION CONTROL (STABILIZED CONSTRUCTION ENTRANCE/EXIT GRAVEL PAD)				
Bid Rank	Department Estimate		2,358.000	\$35.000	\$82,530.00	
1	W. W. CLYDE & CO.			\$25.000	\$58,950.00	-28.6%
2	HAWK CONTRACTING LLC			\$8.000	\$18,864.00	-77.1%
3	COMBS CONSTRUCTION COMPANY, INC.			\$16.000	\$37,728.00	-54.3%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		766.000	\$12.000	\$9,192.00	
1	W. W. CLYDE & CO.			\$5.000	\$3,830.00	-58.3%
2	HAWK CONTRACTING LLC			\$5.500	\$4,213.00	-54.2%
3	COMBS CONSTRUCTION COMPANY, INC.			\$4.050	\$3,102.30	-66.3%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$225,000.000	\$225,000.00	
1	W. W. CLYDE & CO.			\$169,565.000	\$169,565.00	-24.6%
2	HAWK CONTRACTING LLC			\$440,004.620	\$440,004.62	+95.6%
3	COMBS CONSTRUCTION COMPANY, INC.			\$285,000.000	\$285,000.00	+26.7%
9050002	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE, SHOP CURVED				
Bid Rank	Department Estimate		13.000	\$110.000	\$1,430.00	
1	W. W. CLYDE & CO.			\$65.000	\$845.00	-40.9%

*** Bid Tabs for Proposal Pamphlet 2025070 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9050002	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE, SHOP CURVED				
Bid Rank	Department Estimate		13.000	\$110.000	\$1,430.00	
1	W. W. CLYDE & CO.			\$75.000	\$975.00	-31.8%
2	HAWK CONTRACTING LLC			\$60.000	\$780.00	-45.5%
3	COMBS CONSTRUCTION COMPANY, INC.					
9050003	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (NESTED, 3' POST SPACING)				
Bid Rank	Department Estimate		75.000	\$105.000	\$7,875.00	
1	W. W. CLYDE & CO.			\$70.000	\$5,250.00	-33.3%
2	HAWK CONTRACTING LLC			\$80.000	\$6,000.00	-23.8%
3	COMBS CONSTRUCTION COMPANY, INC.			\$65.000	\$4,875.00	-38.1%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank	Department Estimate		1,388.000	\$75.000	\$104,100.00	
1	W. W. CLYDE & CO.			\$65.000	\$90,220.00	-13.3%
2	HAWK CONTRACTING LLC			\$75.000	\$104,100.00	+0.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$60.000	\$83,280.00	-20.0%
9050024	EACH	GUARD RAIL TERMINAL (C-10.21)				
Bid Rank	Department Estimate		5.000	\$7,500.000	\$37,500.00	
1	W. W. CLYDE & CO.			\$6,000.000	\$30,000.00	-20.0%
2	HAWK CONTRACTING LLC			\$6,750.000	\$33,750.00	-10.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$5,500.000	\$27,500.00	-26.7%
9050025	EACH	GUARD RAIL TERMINAL (MASH)				
Bid Rank	Department Estimate		1.000	\$7,500.000	\$7,500.00	
1	W. W. CLYDE & CO.			\$6,000.000	\$6,000.00	-20.0%
2	HAWK CONTRACTING LLC			\$6,750.000	\$6,750.00	-10.0%
3	COMBS CONSTRUCTION COMPANY, INC.			\$5,500.000	\$5,500.00	-26.7%
9050036	EACH	GUARD RAIL, ANCHOR ASSEMBLY				
Bid Rank	Department Estimate		4.000	\$3,500.000	\$14,000.00	
1	W. W. CLYDE & CO.			\$3,500.000	\$14,000.00	+0.0%
2	HAWK CONTRACTING LLC			\$4,000.000	\$16,000.00	+14.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$3,500.000	\$14,000.00	+0.0%
9050451	EACH	GUARD RAIL POSTS				
Bid Rank	Department Estimate		5.000	\$400.000	\$2,000.00	
1	W. W. CLYDE & CO.			\$900.000	\$4,500.00	+125.0%
2	HAWK CONTRACTING LLC			\$1,050.000	\$5,250.00	+162.5%
3	COMBS CONSTRUCTION COMPANY, INC.			\$850.000	\$4,250.00	+112.5%
9240010	L.SUM	FORCE ACCOUNT WORK (WILDLIFE REHABILITATOR)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$5,000.000	\$5,000.00	+0.0%
2	HAWK CONTRACTING LLC			\$5,000.000	\$5,000.00	+0.0%

*** Bid Tabs for Proposal Pamphlet 2025070 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240010	L.SUM	FORCE ACCOUNT WORK (WILDLIFE REHABILITATOR)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
3	COMBS CONSTRUCTION COMPANY, INC.			\$5,000.000	\$5,000.00	+0.0%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$40,000.000	\$40,000.00	
1	W. W. CLYDE & CO.			\$44,000.000	\$44,000.00	+10.0%
2	HAWK CONTRACTING LLC			\$75,000.000	\$75,000.00	+87.5%
3	COMBS CONSTRUCTION COMPANY, INC.			\$199,949.800	\$199,949.80	+399.9%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$75,000.000	\$75,000.00	
1	W. W. CLYDE & CO.			\$150,000.000	\$150,000.00	+100.0%
2	HAWK CONTRACTING LLC			\$250,000.000	\$250,000.00	+233.3%
3	COMBS CONSTRUCTION COMPANY, INC.			\$200,000.000	\$200,000.00	+166.7%